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QUESTION 1

How many life events can be included in a collapsing rule?
A. 10

B.8

C.12

D.7

Correct Answer: A

QUESTION 2

A benefits administrator goes to the Enrollment task and finds the following under, the life event summary:
1.

Address Change life event status: Detected

2.

New Hire life event: Manual What does this status signify?

A. A New Hire life event wasmanually selected. An Address Change event was triggered for the person and
participation evaluation processing was evaluated.

B. A New Hire life event was manually selected. An Address Change event was triggered for the person, and
participation evaluation processing has not yet evaluated it.

C. A New Hire life event was manually selected, or the Configure the Timeliness Evaluation setting of a particular life
event set the An Address Change event was triggered for the person and participation evaluate processing has not yet
evaluated it.

D. A New Hire life event was manually selected. An Address Change event is yet to be triggered and processed for, the
employee.

Correct Answer: C

QUESTION 3

A medical plan (not in program) has the Defined Rate frequency set as Monthly and the Communicated Rate frequency
set as Per Pay Period. The pay period is defined as bi- weekly.

The rate has been defined with the calculation method as Flat Amount = 65. The currency defined at the plan is U.S.D.
There are 26 payroll periods in the plan\\'s year period. What is the communicated rate value?

A. 40
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B. 130

C.325
D. 30

Correct Answer: D

QUESTION 4

The benefits administrator runs an open enrollment window on March 1,2017 for Program:
XX Life Insurance, but cannot find the life event date of March 15, 2017.

What could be a reason for this?

A. The life event date configured for XX Life Program is not 15 March 2017

B. There is no configuration for open enroliment for thexXX Life Program.

C. A cycle has already run for open enrollment, so no life event date is available.

D. The benefits administrator has a login from the previous date to that of 15 March 2017.

Correct Answer: D

QUESTION 5

How do you configure the link between the payroll module and benefits?
A. Link the element to the plan rate.

B. Link the element to the plan coverage.

C. Link the payroll to the plan salary basis.

D. Link the payroll to the plan coverage.

Correct Answer: A
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